12 Angry Men Unit Test
Part A- Matching

1. Foreman


A. He is in advertising

2. Juror 2



B. He is honest but not very smart

3. Juror 3



C. He would be the equivalent of Juror 1

4. Juror 4



D. He is the foreign juror

5. Juror 5



E. He is from the slums

6. Juror 6



F. He is easily persuaded

7. Juror 7



G. He is the racist juror

8. Juror 8



H. He has tickets to a show

9. Juror 9



I. He is the last juror to change his vote

10. Juror 10


J. He is the old man

11. Juror 11


K. He analyzes only the evidence

12. Juror 12


L. He votes not guilty the whole play

13. Motive



M. The person could have been at the crime scene at the

14. Means



       time the crime was committed

15. Opportunity


N. Reason to commit a crime

O. A way to commit a crime

Part B- Multiple Choice

1. The play takes place in which of the following decades: a) 20’s b) 30’s c) 40’s d) 50’s

2. The setting takes place in which of the following buildings: a) a tenement b) a juror room c) a garage d) a slum
3. There are which number of people on a jury: a) 8 b) 10 c) 12 d) 14

4. The crime that the defendant is being charged with is which of the following things: a) murder b) rape c) arson d) theft

5. Which of the following things is the penalty for this crime: a) probation b) 25 years c) life in prison d) death penalty

6. The defendant is accused of killing which of the following people: a) his mother b) his father c) his brother d) his sister

7. Which of the following things was the supposed murder weapon: a) gun b) rope c) bat d) switch knife

8. Which of the following things was the boy’s alibi: a) he was with his girlfriend b) he was at home studying c) he was at the movies d) he was at the club

9. The defendant was arrested before for which of the following things: a) rape b)knife fighting c) simple assault d) ethnic intimidation

10. Which of the following things shows that the defendant had a motive: a) his father hit him earlier in the night b) he was an experienced knife fighter c) he bought a switch knife that night d) he didn’t have an alibi

11. Which of the following things proves that the boy had a means: a) his father hit him earlier in 
The night b) he was an experienced knife fighter c) he bought a switch knife earlier that night d) he didn’t have an alibi
12. Which of the following things proves that he had the opportunity: a) his father hit him earlier that night b) he was an experienced knife fighter c) he bought a switch knife that night d) he didn’t have an alibi

13. Which of the following things proves that the defendant premeditated the crime: a) his father hit him earlier in the night b)he was an experienced knife fighter c) he bought a switch knife that night d) he didn’t have an alibi

14. What does the old man claim to have heard the boy say: a) “You killed Kenny!” b) “You’re a dead man!” c) “I’m gonna kill you” d) “You’re done”

15. Juror 8 believes that the defendant doesn’t have a tickets stub because of which of the following reasons: a) he didn’t go to the movies b) he snuck into the movies c) his date bought the tickets d) his friend worked there and let them in

16. The defendant is from which of the following place: a) the country b) the suburbs c) nowhere, he’s homeless d) the slums

17. In the play, it is which time of year: a) winter b) spring c) summer d) fall

18. The jurors vote a total of which amount of times in the play: a) 4 b) 6 c) 8 d) 10

19. The stab wound was made in which of the following ways: a) an upward angle b) a downward angle c) across d) vertical

20. The final verdict of the trial is which of the following: a) guilty b) not guilty c) not guilty by reason of insanity d) guilty but insane

True/False

1. There must be a dead body for someone to be convicted of murder.
2. Juror 8 votes guilty the whole time.
3. Juror 3 votes not guilty the whole time.
4. The defendant really didn’t commit the crime.
5. The defendant is 19 years old.
6. Juror 7 has tickets to a Yankees game.
7. Juror 5 is the one from the slums.
8. The murder weapon was unique.
9. The defendant had gone to see Rebel without a Cause.
10. The defendant received a fair trial.
Short Answer

1. List and define the 4 things that are required in order to convict someone of first degree murder.
2. What do you think of the boy’s alibi?
3. List the different vote counts.
4. What is wrong with the old man’s testimony?
5. What is wrong with the old woman’s testimony?
Essay (Choose one of the following essays to answer.)

1. Do you think that the defendant is innocent or guilty? Explain using the evidence presented in the play.
2. Compare and contrast Jurors 3 and 8.
3. Explain how Juror 8 convinces the other jurors to vote not guilty throughout the play. 
